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SECTION -1 / @UE - I
CHILD DEVELOPMENT AND PEDAGOGY
a1 T wa foramemer
There are 30 questions in all in this Section.
All questions are compulsory.
WEEHFA S0UHE |
[t v s §

1. Which of the following statements is not true about development ?
(A)  Development is the product of interaction
(B) Development follows an orderly sequence
(C)  Development is individualized process
(D) Development proceeds from specific to general.
A ddsh-m e fTem Fan § g @ ¢ 2
A fawm afEa & wa (B) o= uw =gafeyd S@en 1 syt @
© foaFm & e g @ (D) T fafoe | wmm #t s Em

2.  Children’s thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

(A) 7 to 12 years (B) 12 to adulthood
(C) 2to7years (D)  birth to 2 years.
ATl 1 W= ST 6t ST g STvEl Ud Tt ¥ g § 1 3w e @
() 79 1294 7 (B) 128 59 0%
€ 23 736 TH (D) SHE 298 T |
3. Human development is the product of joint contribution of both
(A) parents and teachers (B) sociological and cultural factors
(C) heredity and environment (D)  none of these.
are fawma A <1 % dree & oftor § 2
(A  sAfYEE wd T F (B HWIfS® Ud Wigia® FREHI HI
(C) HWHY Td AT (D) T § *E T |

LN [ PT.O.



L-2

4 (2]
Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?

(A)  Social transmission (B) Experience

(C) Equilibration (D)  None of these.
=1 4 4 # I§ F e difes fawm =1 faufer o 7w 02

(A) " d= (B) sIvE

(C) HeHE (D) %8 | F15 T&T |

Which of the following is a better strategy for teaching children with special needs ?
(A)  Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C)  Cooperative learning and peer tutoring

(D)  Ability grouping for teaching.

fad sEvIEm o 7= ®t B F fou frafafag § § $R-9 oEeE afus svgs € 2
(A Ffyswhan = ) afnfaa F0 g w0 § =9 F0

(B) faenfdai =1 wfiwmfem @ gu sves g fve

(€ Fewr Ay qu disw 2g2fin ( wewfedl g smfem )

(D) 1= & fore draa snenfta wqErsT |

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

(A)  Gifted children (B)  Average children

(C) Creative children (D)  None of them.

U F HY H1 T H1 Arga), GaE F e, wE) v ffwd % wf gea fadea €
(A wfasmenedt =l #t (B) W AT Hi

(C) Herrile araal Hi D) ¥ @ T |

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A)  Chain learning (B) Stimulus Response learning

(C) Concept learning (D)  all of these.

U Hicsl 9 Fell agH 3 By W FIe FHbA F A T of ¥ | dEH F A A 39 Fw R
FH Y AL NI SR FIE F G W AN | FESH IEA IR W F YAY T L, B H Y W
W@ F HAIR FH WE T F B B G W @ ¥ | 7w Tewm

(A SEErE AT F (B) IEvH-sfEa sifamm &

(C) Wy sy # (D) 78 | &l |
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Extrinsic motivation may include

Praise & Blame

II.  Rivalry

III. Rewards & Punishment

IV. Knowledge of results.
Of these :
(A) Tandlll (B) I, II and III
([C) Onlyl (D)  all of these.
Ay Aiyaron ¥ waEafe faar s

I 9¥iEl O§ SR

. wfasfzm

1. YR T4 308

Iv. 9ftom 1 919 |
TH A
A 13RI B I, &R 11
€ Fad I (D) THIATH

A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A)  Social learning (B)  Conditioning

(C) Experimental learning (D)  Incidental learning.

o wfsran # =af® a0 & =eer #1 @ = drEa € A 6 ywg oava F, 5 s 9 @
(A FmEIfSE A (B) FERA

() v sfmm (D) s sfiem |

The symptom of learning disability is

(A) tendency to escape (B) restless, energetic and destructive
(C) disorders of attention (D)  lack of motivation.

stferme Fafraen &1 we &

(A) WA T wgfa g (B) 39, FuaH td fawEEs e
(C) zraum wwt = / faaw (D) SO 1 H9E |

The personal factor(s) which affect learning is / are

(A) Mass media (B)  Peer group

([C) Teachers (D)  Maturation and age.

sferma =t gnfaa & aren safET s §

(A) HER F |YA (B) 99T HYE

(C) 39AYE (D) wftygEar wd g |
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13.
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15.

6 [A]
A cricket player develops the skill of bowling, but it does not affect his skill of batting.
It is known as

(A)  positive transfer of training (B]  negative transfer of training
(C)  zero transfer of training (D)  none of these.

T fFde faemst st et & iver &1 fastad #< aW ¥, W 98 I9F aoorarst ¥ e
wifer & Fwar | 39 wea ¥

&) fadFmRs wfaeor smao B) frauers i s
(C) ¥ wivmeyor 7T D) &7 A Fr 7 |

Which of the following statements best shows the mental health of a person ?
(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C)  Free of personality disorders

(D)  All of these.

=1 1 @ $-m Fuw fet =l F amfos @ 5 599 w9 3 veitfa s d 2
&) goi sfvyeafs, smfaen st o @eg =1 i e

(B) wWHfa® fawrl &1 7 €

) =fea & fawrl @ qfe

(D) THF I |

Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of

(A)  developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only

(C) cognitive transformation to explain stages

(D) none of these.

WT4S, W Wd A wAraiwl 3 SAfha w6 fafie sewned & g d eren #t 1wy
ot 3

(A w1 fF fowm F) s gaE ¥ fuifa e §
(B) el i dvamEen & arqva € sifus wwfaa +@ € e sreeei & diftg wwa a1 #
(€ Tafvm sraeensdi #1 wagm % foq damras agamE & o) ¥ S

(D) % | FE 7= |

Guilford has given the term ‘convergent thinking' as equivalent to
(A) Intelligence (B) Creativity

(C) Intelligence and creativity (D)  none of these.
firerg 3 ‘st famm’ we 1 v s gom ol O e # 2

@A =3 (B)  gSHTCHS

(€ 9fe & gorwrwsha (D) 7 A = & |
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16. Which statement is not true about interest ?

(A) Interests are innate and acquired

(B) Interests change with time

(C) Interests are not related to capacities and aptitude

(D) Interests are not reflection of attraction and aversion in behaviour.

Faddsa-m A e & 9 § 99 781 € ?

(A) sfEgl s R afsa S Bt #

(B) *f=dl ¥9a & AR seewd! wat ¢

() feal drgastl wd sifusmaesi @ wrafyg 72 e €

(D) Ffeal saer § v ud fasmdo F giifas 78 € )
17. The attitude is

(A) an emotionalized tendency organised through experience to react positively or
negatively towards a psychological object

(B) a characteristic that is symptomatic to the individual's ability to acquire with
some specified training, some knowledge or skill in a given field

(C) a potential ability of an individual of a specialized kind

(D) none of these.

s &
(A)  TF vETHES Fgfa S oeYa F gr wifed g fee Wt o % wfa et @
FyEet % w9 H gfafwar Ft &
(B) UH UH fadwan < = 1 drgar w1 wimms € o) o yew &9 # fafie wfnew, 3=
AYE] Hive ¥ HrEr S gHar §
(€ =afs FI dioya ewar o o fafoe war &t ot @
(D) 378 | &g T |
18. In personality as well as intelligence heredity plays
(A) anominal role (B) a great role
(C) unpredictable role (D)  fascinating role.
=fee wE 9 # durghy &
(A) T w i § (B) wewyqul gy &
() FgaEigEa Y ® (D) I i € |
19. Which of the following is the storehouse of our unfulfilled desires ?
@ 1d (B) Ego
(C) Superego (D) Id & Ego.
o= gl & gfd =21 &, 37 e FA A F W E 2
Ay FEH (B) #HEH
€) W F‘H (D) FH TE Jey |
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21.

22.

23.

24,

s [&]
Defence mechanism helps us a lot in dealing with

(A)  violence (B)  stress

(C) fatigue (D)  strangers.

& OF Aga WEEdal wLal €

(Aa) fEwafwead (B) <&@ A fged d

€ oF[ A gt d (D) srofadl A frgea 7

Which of the following will serve as a most satisfying defence mechanism for the

physically handicapped individual ?

(A)  Identification (B) Rationalization

(C) Fantasy (D) None of these.

it fatam a =afe F fau = § @ S9-4 g @ 3 3§ 98 daesms g 2
(A)  TTRTCHTEHTOT (B) faawiswTw

©€) sfawern (D) % 8 %K 7 |

Children’'s Apperception Test was designed for children between ages 3 and 10. The
CAT cards substitute

(A)  non-living objects for living objects  (B) animals for people
(C) females for males (D)  children for adults.

ATCTF FETETY GHEer 399 ¥ 10 a9 Fi Y F Aewh] & o w9 v # ) 59 ghwm § w1 d
wfaenfua fFd 74 €

A) TeETgA FEARASTEagAI S (B) @AM % H W AHE
(C) T&u F TUE W Higensii =i (D) T3S F IH T AcTH H |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A)  Brainstorming (B) Lecture method

(C)  Audio-visual aids (D)  All of these.

gereierr & e & fere v s w1 fre A A feg fafu &1 wemm o =ife 2
@A 3= =/ faEmE (B) =M fafy

(C) gva-g=7 wr (D) 7H | ot |

Which of the following statements is incorrect ?

(A)  Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.



25.

26.

27.

fFaddsh-asm g 7= & ?

(A)  HAEYFEA g9 T UHIE e T8 8

(B) <Al STavashal &1 HAraSTe qfony

(C) ETgFHal Ud ST a9 721 €, afess garm €
(D) wewgfwal s e 5e & |

Right to Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

(A) forty hours (B) forty-five hours

(C) fifty hours (D)  fifty-five hours.

foren =1 sifuer sifufam, 2009 # v seamrs & fou =Faw =1 w2 wfa wae fuifa fed m &
(A) =g He (B) Hareftq w2

(C) 9= w2 (D) 999 He |

Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A)  Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D)  All of these.

foen =1 sifuer sAfufam, 2009 9 & s &1 fr= 7 ¥ e afas @ s g 2
(&) foemem ¥ Frafmm w9 3 99 w s9fea €91 &

(B) WISTHH H WA F T HET AT

(© wol sremEd F fuifa '9E W QU S g

(D) T Fadt |

National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A)  Organise programmes to promote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject
(D) Integrate peace education in the curriculum.

T UETRY w9, 2005 H wiw g B g 37 F fow g e # emm o w #
ery ' ¥ e F | ) g e g 2

(A wfeensti F wfa snet v fomiert o gt fasfan =0 & fau sy st e e
(B) faw foen =1 werar s

(©) i< fen =t = 3w fawg & w9 4 v 91

(D) wnf=1 foren =t wreweRw o wiwfeaw faa s

NI | PT.O.
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28. National Curriculum Framework, 2005 talks of major shifts from
(A)  knowledge as given and fixed as it evolves and is created
(B) educational focus to disciplinary focus
(C)  learner centric to teacher centric

(D) none of these.
YT wreT=El F w9, 2005 § A #iw ¥
(A I R e s W 9w e g @ e e dee @ e @
B) IeFFZATEFTFTA®
(€ foendi Ffza @ s Ffza &1 v
(D) 7§ | FE 7T |
29. The objective of action research is to
(A) gain new knowledge
(B) develop the science of behaviour in educational situations
(C) modify the educational practices in school and classroom
(D) all of these.
AT I w1 3evE
(A)  FEH IH H @
(B) ey ufifeafel § =g fagm = o
(€) Tommem qan wen 1 s w1 yonedt § gur @
(D) FFH AT |

30. In the National Curriculum Framework, 2005 under the heading 'Examination Reforms'
which of the following reforms has been suggested ?

(A)  Open book exams

(B] Continuous and comprehensive evaluation

(C) Group work evaluation

(D)  All of these.

WP greTEEl w9, 2005 F rria Cwdien gunl’ | = § | few gur w g € 2
(A e gEaE gl (B) Hda / FR=R TE =9 geaisa

€ drifes Fd geais (D) 3H | |t |

LT
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is a verb ?
(A) Sympathy (B) Sympathise

(C) Sympathetic (D)  Sympathiser.

Fill in an appropriate determiner :
.............................. first item in today's programme is a song.

(A) The B A

(C) Any (D) Some.

Supply the correct form of the verb in the following sentence :

SN ceixasiciaassvisisnse a new dress last week.

(A)  has bought (B) has been buying

(C) buys (D) bought.

Which one of the following sentences has the correct verb form ?

(A) They already seen the film (B)  They already saw the film

(C) They will already see the film (D)  They have already seen the film.

May I enter your office ?
In the above sentence ‘may’ has the meaning of

L-2

(A)  permission (B)  possibility
(C)  probability (D) order,

To express 'necessity’ we use the modal

A} may (B) must

(C) can (D)  might.
Complete the phrasal verb in the following sentence :

I usually go to bed early and also get ..................... early.
(A) out (B) off

(C) up (D) into.
Which one of the following options will complete the phrasal verb in the following
sentence ?

The: train glowed :iaiinviinsas and finally stopped.

(A up (B) over

(C) about (D)  down.

[ P.T.O.
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Pick out the phrasal verb which means ‘to take care of" :
(A)  run after (B) look after
(C) run into (D) look for.

Complete the phrasal verb in the following sentence :

The tonrst BAde POIMLED, «.coo0nesnesersneansrnsores the most important buildings.

(A) in (B) out

(C) off (D)  on.

Which one of the following phrasal verbs means ‘to stop doing an activity or a job' ?
(A) take up (B) run down

(C) give up (D)  look for.

Which one of the options will complete the phrasal verb in the following sentence ?
Ihad to Bl amasaaiganans three forms to get my driving licence.

(A) up (B) into

(C) down (D) over.

The passive voice of ‘We make butter from milk’ is

(A) Butter is being made from milk

(B) Butter has been made from milk

(C) Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A)  The door was painted (B) The door has been painted
(C) The door is painted (D)  The door be painted.
My sister said, “I am enjoying my work."

In Reported Speech the above sentence will be

My sister said that

(A) she was enjoying her work

(B) I was enjoying my work

(C) she was enjoying my work

(D) I have been enjoying my work.
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Rahul said to Veena, “Please return my books early.”
In Reported Speech the above sentence will be
Rahul requested Veena to
(A) return her books early (B) return my books early
(C) return his books early (D)  return their books early.
Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.
(A) India has many beautiful buildings
(B) The Taj Mahal is more beautiful than any other building in India
(C) India has only one beautiful building, the Tal Mahal
(D) The Taj Mahal is a beautiful building.
Pick out the correct ‘wh' question :
(A) How much money do you want ? (B) How much do you want money ?
(C) How much do you money want ? (D) How much money you want ?
Which one of the following words is similar in meaning to ‘purchase’ ?

(A) Buy (B) Sell

(C) Receive (D)  Supply.
The word ‘inspection’ is similar in meaning to

(A)  interview (B) exercise
(C) getup (D)  check up.
The opposite of the word ‘support’ is

(A)  help (B) argue

(C) oppose (D) return.
Which word is opposite in meaning to ‘interesting’ ?

(A) confusing (B) boring
(C) contrasting (D)  pleasing.
Choose the word with the correct spelling :

(A) fenancial (B) financiel
(C) finencial (D) financial.
Pick out the word which has been correctly spelt :

(A)  situetion (B) setuation
(C) situation (D)  situasion.

L | PT.O.
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Note : Please read the following stanza to answer Question Nos. 55 and 56 :
“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! [ shall die.”

55. “Like black birds” in the above lines in as example of

(A) metaphor (B) simile
(C) hyperbole (D)  pun.
56. We can find an example of alliteration in the above lines in
(A) Ram re Ram (B)  1shall die
(C) TheJamuna's waters (D) The shadows of evening.

57. Anelegyisa
(A) sad poem, usually about someone’s death
(B) love poem
(C) prayer
(D) poem about someone's marriage.
58. The phonetic symbol for the first sound ( underlined ) in the word 'ship’ is
w /7 (B /sh/
€ /ch/ m /7.

Direction for Question Nos. 59-60 : Pick out the correct phonetic transcription of the
following words :

59. Pick
&) /pllk/ B) /pl:k/
€@ /plk / (D) / plkk /.
60. Try
A /trl/ (B) /tral/
(C) /Jtriz/ (D) /trae/.
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is a noun ?

(A) interesting (B) develop

(C) teacher (D) brave.

Fill in the appropriate determiner :

I have not got i money in my bank account.

(A)  any B) a

(C) afew (D) few.

Supply the correct form of the verb ‘remember’ in the following sentence :
Luvisiavinamas your name.

(A) am remembering (B) remember

(C) was remembering (D)  have remember,

Pick out the correct verb form :

She was walking along the road when she ..........c.....eeeuee. him.
(A)  met (B) have met

(C) was meeting (D)  meet.

Supply a modal which expresses ability :

All of Themm iieosiiasoNagssvssi speak three languages.

(A)  may (B)  wil

(C) must (D) can.

We must come back by six.

‘Must’ in the above sentence expresses

(A)  possibility (B) advice

(C) desire (D) necessity.

Complete the phrasal verb in the following sentence :

You may try hard to hide the truth, but one day the truth will come ............ ‘
(A) in (B) over

(€) out (D) at.
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68. Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
(A)  up (B) through
(C) after (D) in.

69. Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
(A) away (B) at
(C) off (D)  after.
70. Which one of the following phrasal verbs means ‘to remove' ?
(A) puton (B) take off
(C) putup (D)  get off.

71. We decided to put off our visit to Kashmir till October.
‘Put off in the above sentence means
(A) arrange (B) plan
(C) reject (D) postpone.
72. There isn't enough money, so we must cut down expenses.
‘Cut down' in the above sentence means
(A)  reduce in size or amount (B) stop
(C) increase in size or amount (D) revise,
73. They are repairing the bridge.
The passive voice of the above sentence will be
(A)  The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D)  The bridge has being repaired.
74. Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.
(A)  Off the field was carried by the injured player
(B) The injured player was carried off the field by them
(C) The injured player be carried off the field
(D) The injured player has been carried off the field.
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75. He said, "Kavita, when is the next train ?"
The above sentence in Reported Speech will be
(A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) He asked Kavita when the next train was.
76. The doctor said to me, “Do not swim in cold water."
In Reported Speech the above sentence will be
The doctor advised me
(A) do not swim in cold water (B) that do not swim in cold water
(C) not to swim in cold water (D)  to not swim in cold water.
77. Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person In my village.
(C) My uncle is the only wise person in my village.
(D) My uncle is wiser than some people in my village.
78. Pick out the appropriate question tag for the following statement :
You didn't see him.

(A) didn't you ? (B) did you ?

(C) isn'tit? (D) aren't you ?
79. The word ‘advocate’ is similar in meaning to

(A) adviser (B) scholar

(C) supporter (D) lawyer.
80. Which one of the following words is similar in meaning to the word ‘precise’ ?

(A)  brief (B) exact

(C) precious (D)  expensive.
81. The opposite of the word ‘familiar’ is

(A) related to a family (B)  personal

(C) strange (D)  unfriendly.
82. The word ‘creative’ is opposite in meaning to

(A)  destructive (B)  positive

(C) artistic {D) pessimistic.
83. Pick out the word which has been correctly spelt :

(A)  obidient (B) obediant

(C) obedient (D)  obidiant.

LU | PT.O.



L-2
84.

85.

86.

87.

88.

89.

90.

46 [A]

Which one of the following words has been correctly spelt ?

(A)  gramar (B)  grammar

(C) grammer (D)  gramer.

Note : Read the following stanza and answer Question Nos. 85 and 86 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !"

The line ‘Like ruined monument on desert plain’ is an example of

(A)  simile (B) metaphor

(C) elegy (D)  hyperbole.

Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country (B) strike the strain

(C)  with her fatal chain (D)  desolate art thou.

A sonnet usually contains
(A) eight lines (B) six lines
(C) twelve lines (D) fourteen lines.

Direction for Question Nos. 88-90 : Pick out the correct phonetic transcription of the
following words :

Like

@A /lalk/ (B) /k/
(C) /laik/ (D) /lulk/
Tree

A /trl/ B) /tre/
(C) /triz/ (D)  /trel/
These

(A) /ols/ (B) /0i:z/
C /olz/ (D)  /oi:z/.
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68. ‘'fapam =il ufefdl fawl wea s 1" faarg o

(a) fawa s B fowa =i

(€ fowd we (D) fawa a@w® |
69. fawa s wwn gwen anfefq ?

w2 B 5

© 3 D) 4
70. ‘g uvg" '3t oifEfy fowe o

(A)  fada s B fowa s

(€ fowa aqw (D) fawa T |
71. ‘orE, ‘i, vl wfed W s frarg st

() THR g (B) HR TR

(C) R e (D) TR T |
72. TERETY AW S HEAT AR

(@ vEE feay (B) ga I8

(C) e foao (D) s fogo |
73. 'S’ UOE TA W e W@ gee s faa o fed el o i sne

(A) R @rferE (B) R qaug

(C) HR Hed (D) <R Higa |
74. ‘IR wifs @ vod Tm T 1 fed e’ € e anfef

) wEE (B] IS [

(C) " FsA (D) s AiHY |
75. '‘Hoga' St W e

(A arfEE (B) v W

() e D) WEwA |
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‘@' <t fag e
@ B) wifed
) @ (D) fest
‘BifFy’ i ez aifeg o
A 9 (B) w3
© oifE (D) T |
Az (B) H&E&Had
€ ¥a (D) o9 |
ot g7 o ‘wefif = € wdier S Qe A @ 39 @ wee e
@ fowam (B) fo=u qerae
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TR @ S HA AR
@ T B) =TS
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(&) ETo Hrdiena SirraTUit (B) HWIHEH HIEE
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‘& ' s g e
(A) e T Mg e (B) WS AER S
(C) &% FN & (D) T fa =efe |
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VI G B) ot sefier st aiia
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84. ''wgren fagmg W wre sufefy" w4t o

US| B S

(C) &R W (D) S S WS |
85. ‘fo@a wfg wene e fFaria 7 9 e wR I Fow o 7F v % w9 F 7y €& o |

A T T (B) =t

(©) =erE (D) Y& 3= TAF |
86. ‘v farft wmw' foFaa S @ MR

@) sio Wl firamft B) o waqu gaHgmil

(C) o Hidtenel Siraamoit (D) =fo wety Afeer |
87. ‘wie W el wfet suwm # fofaag o ?

@ F= B fase

) Tomst (D) @mEl |
88. ‘T’ @ St wHl AW

@ fEae (B) V= FW

© =R D)  Fh
89. favix =i 3 -t wigeter amqvivr & 3 ?

@) [ (B) SR

(€ 9 (D) =T |
90. ‘Tt =g’ St WA SR

(@) e B) e

(€ =rEERE (D) ¥R |
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¥E : I

FH : 11

UEL: |

fen ¥z &9 9% 30 yms va1
A YR® Agdl I6)

g fag gfos &5t 7t 37
(A) v fEE (B) =ds f&&
(C) wfemeg & (D) faz=t f&&
Unrdt 3T S €31 gatnt faagir a7
(A) 3EE®EUT (B) 3z®®ew
(C) 3EWE (D) SEHEHW
89 wuz fag' v @995 aws MY A0 o & 899 oo fead, 87 § ot faor e 37
(A) AT B) fenivs
(C) mimatha D) €3
Uwrat @it gt gatn faagmt a7
(A) FTETW (B) aywa
C) Twaw (D) ayaArH

T9% @ gese AR o1 feud fau3 muel o gu gese &7

(A)  fafonr m3 5= (B) &= 3 feRnz

(C) feRne w3 fafonr (D) &=, fermE w3 fafon
faoar mae »@Eisg &% afenr 37

A)  yuz (B) useH

(C) uzwr D)  y=&

fao? maw &% fugdse adt sfamm?

(A)  FERH (B) my=™

(C) weug (D) =<3
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J5 fafimr &5 fags rae M’ & ayeredt &at 37

(A) fauz (B) ga=e

(€ yrEaE® (D) Ay

‘For' mue v fegul mee faoar 37

A)  TEF (B) frgr

© g (D) Her

35 fa Tt &9 fgusr maw sg-wedt 37

(8) A9 99 g Har aroel () HY €% ¥ Har &9 |

(A) A9 (B) &@

(C) ¥ (D) &t &t
frost ems Al 3 ufost vt 7@ @R 2w® 3 & faor aier 37

(4) fugst (B) @t

(C) wN fre (D) et Bt F
niftrua ugr faar 31 - fen Ta féw wftmua’ faga e 37

(A) Bt (B) uH &=

(C) feds Tog aiw (D) 3= TV &T
fra2 mae yzsie @ 9 w3 gt ordt gy Ufenr & 7R, 84 & faus uzsie faor aier 37
(A)  fameoa (B) Héuewa
(C) ymseTex (D) fergewa
A3 841 faat s wolet @ - fen o= fev faaz feime wafanr fomr 37
(A)  FAfemrereg (B)  ufewsssa
(C) fomeerea (D) T

frm e 3 fai fafer 2 2 o <o, s & yaw o uzr 8@, 8 § faoar fafonr feine faor
Arer 37
(A) FTTsTER (B) REBTwR

(C) TweTex (D) yage=y
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76. ofel faor fawr wet fife 31 ya-y3 vz 3 fow aoer 31 - fem o féu femifa fg fam o @
YR ®E HYS gt 37
(A) (B)  andt
(C) et (D) yAAT
77. it IARES § funme g9 7 feg ew
(A) o TEg 3 B) feriewa &
(C) &7 evad (D) yms T9E 3
78. 993 yu 3 fa €n 3 fgae Au iz for 31 - feg fan fami o og 37
(A) FTEs (B) fimfes
(C) Fgas (D)  ferm
79. wdt feofen rfas 'v 31 - fen e e v At faoar feran g wsfonr farr 37
(A) aW B) fa=d
(C) Yo amr (D)  ge HaH
80. ¢ fai &t adt J¥t aiw § g-u-y fafor 7@ 3t a3 g &t w3 g4t &7
(A) U8 aW (B) &
(C) fd<t (D) &€t &dt
81. we Il fewast iz @ 33 Jur 3, 8F Afadt § vonBz wel faua yoee dae 7
(A) FET B yoE YeF (B) =ug fawd da
(C) TaHt g I (D) B 9 A
82. #F ¥l gH 3§ o€ 3, 3t @R Afest § venBz wEl favzr yoee Tt 7
(A) ¥ ¥2 Fga (B) e ulger
(C) <eme (D)  <wy & wiar fET Aze
83. ‘i 2 wy aufez w2’ wurE e Tefar wer 37
(A) for fegy @ yare? wet
(B) fait T3 wrerit § B8R 2 forga<t g wel
(C) &N a9 & A8z ¥B fonast set
(D) ww & ardtet wet
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‘TR §8 939" e AEdl fagar ey gawt 37

(A) T HEa @ gl 9T da9 FEE! I8 w3 WBE § U & Ba
(B) oEt U@ AR w3 Har HE”

(C) @& He AR w3 e wer °¥F

(D) faR = dew faas 7R w2 e Far &

(A)  mwy F e RYST (B) vyt e fEar de

(C) 3T muzr (D)  wy e fereRUET
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(A) A furd (B) wHha

(C) wfsarstia (D) ywe

Io fefemt fET° fdat e fags AEus 3t adt 37

(A) fusrt § yrsla fuz (B) ¥B g9 § wawar <9 Al
(C) fize g s (D) fait AEardt wEAe § Hiv

WY wieg aEn @ FesT HE 9t =F 9Et 3 w3 @n a=a 3 9 few Ane fdw w83 U 9 Us) few
ET S, oW, TOW, WSt U Wy 23w 31 ER @ a1 widls wEy Samtet Al nu faar 3
fer aua @ FeaT widls ANt AE @ WER SEHT &% SRST Yal q9 @ 8¢ SRt § TeusEmi <er
293 99 U5| IF 93 O 31 Bagze v Hier ufosl 88 am)

(A) fefamrsa 33t (B) aunm & Fwar
(C) <3 om e faeea (D) BIIIT T HEST
‘wier ufgas’ 2 faoz now o< 967

(A)  MASE § sagE (B) <ut ufose

(C) »9™H II& (D) @a frg feaw
‘Tl Attt 3 &t new In?

(A) A= 33 (B) frAu-uudt simers
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vis : III
o : IX
spar 21l

1L visHi §A 30 usal 8,

€25 U=atoll yalor aiudl s202ua 8.

olAell uRBe aizlld 61 2l 65 uallatl vaior 24l.
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el waet Aed of Adl NI 2wa 53, dl Yaet Aed Aeseiua Adl euven § s3.
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251 aldld wodl iad sitell usiz sAl & ?
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SECTION - IV / @US - IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

78 @vg 1 9 sy@Eve A4fq 1v(a) ToTe @ faem v 1v(b) mfaes sremaa € | i sTavel & ges
¥ 60 sgfawedag g & |
witene #1 Iv(a) oA wur fawT stgET IV(b) ATATe teaas fSrae 999 SR e vE H
U F e wF Iv@ve & g4 @ ot 60 WA I IW AW E |
SECTION ~ IV (a) / @UE - IV (a)

MATHEMATICS AND SCIENCE / vifora @ fagm
There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W aEvE § 5o 609E § | foa enafddi 3 gq faug &1 99 faa & 5= asft woa = afad €
2
91. 'I‘heslmpllﬁedformsof222 .[22]22and(222)2are

(A) 216 44 162 B 44 28 82
(© 216 28 82 (D) 162, 4%218

2
wrf 2227, (22)2%qm (222 )’ wmwa wu d
W 216,44' 162 [B) 44.28.82
€@ 215,28 82 D) 162 44 218,

92. The factors of expression [x2—2xy+y2]-zzare
(A (x+y-z)(x+y+2z) (B) (x-y-2z)(x-y+2)
© (x-y-z)lx+y+2z) (D) (x-y-z)(x-y-2z).
e ((x2 - 2xy + y? ) - z2% TorEve ¥
(A) (x+y-z)(x+y+2) (B) (x-y-z)(x-y+2)
€ (x-y-z)(x+y+2z) D (x-y-2)I y-2z).
93. If ax? + bx+ c =0 is an identity in x, then

—szb2-4ac _ _ _:_b
(A) b 2 2a (B) c=0 x=0, x= =
(®) c=o.x='7b. x=% D a=0,b=0,c=0.
g ax2 + bx + ¢ =0, x¥ UF gdaaw &, @

2= -\} 2 =
A x = b 2b 4ae (B) c=0 x=0, x= = b

a a

Q) c=0.x=j—b x=9 (D) a=0,b=0,¢c=0.

94. The numerator o?a fractign is less by 2 than its denominator. If we subtract 2 from
the numerator and add 2 to the denominator, then the new fraction obtained is % "
What is the original fraction ?
w3 ® 3 © 2 WS
i ¢ foge oig, A 290 ¢ 1o oo s H 9/ 29 fogr o ik e A 2 <irg feor s
@ 3W ¥HER W T4 i %%, o wrfey fim

o g ® 2 © o 5.

N [ PT.O.
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95. If we divide x*-y? by x- y, then the quotient and remainder are respectively

AW x3+x?y+xy?+y®, 0 B x*-x2y+xyZ+y?, 0

© x3+y3 x%2y+xy? D) x3-y3 x2y-xy2

g x4 - y* & x- yq 9T A wTEe IR SvEd FEE: A0

A x®+x?y+xy?2+y3, 0 B) x3-x%2y+xy?2+y?, 0

© x%+y3 x?2y+xy? D) x3-y3, x2y-xy2
96. If the arithmetic mean and geometric mean of two numbers a and b are equal then

A\ a+b=ab B a+b=vVab

€© ~Ya+b = ab (D) a=b.

afe =l & demsti adw b wu=R A1 q9 U] W R E,

A\ a+b=ab B a+b=vab

(© VJa+b = ab (D) a=h.

97. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
2 years, if the rate of interest is calculated on the basis of six months ?
(A) Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 (D) Rs. 7,577.
48,000 To F1 10% ®1 S 4, 1 jad &1 Tshgfe = 7 €, At = F 9 wER F fewm
q T S ?
(A) 6,566 %o (B) 7.566 To
(C) 8,566 %0 (D) 7,577 %o |
98. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it

by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is

(A) Rs. 100 (B) Rs. 101
(C) Rs. 99 (D)  None of these.
U gEeR T aw F1 qey, formes arvafas ge8 100 %o &, 10% @@ sifed s € | 58
3F 9% T 10% FHHIYA SFH TEH I da=d] ¢, a1 I61 98 a5 Fad To § a=ff ?
(A) 100%Fo (B) 101 %o
(C) 99%0 D) T A FE T |
99. Which of the following statements is incorrect ?
(A)  If the four quantities a, b, ¢, d are proportional then axd = bxc,
(B) If a b, c, dare proportional then ac = bd
(C) The inverse proportion of proportion a: bisb: a
(D) If three quantities a, b, c are in geometric progression, then b2 = ac.

e & | F9-W F9A Terw ¥ 2
() afgufeEm a, b, ¢, I &, A axd=bxc
B) dfg a. b, ¢, dFATUET €, @ ac = bd

(C) FHHYG a:b® HHFAIIT® b: a
(D) =fe ufvmEl @, b, c I AT A E @ b2 = ac.
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The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

(A) Neither decrease nor increase (B) Increase of 25 members

(C) Decrease of 25 members (D)  None of these.

et ween # wewd F1 g@n 2500 % | afE 9% ¥ ed 9 # 10% wgdl € aw g ad ¥ 10%
o2 Wt &, @ 9 96l ¥ 9 wewl Hi wen § fEwat gfe @ e a2

@& A gfe T FH B) 25%HE # g

(©) 25 %=l ® FHl (D) 37 | & TE |

Two cars X and Y are moving from a point A to the point B which are 50 metres apart.

If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively

(A) 2 sec, 5 sec (B) 500 sec, 750 sec

(C) b5 sec, 2 sec (D) % sec.% sec.

3 fagali Aqwn Bfwad d %1 gt 50 et &, @ #R Xaw y=adt € 13k x=t wfa 10 @A
aq YFH T 25 WA §, @ TS F 5 AT TO9 B T TguA A o S 999 FHAN: €W

(A) 29 53 (B) 500%, 7508
€ 59 28 (D) %é, % q

Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively

(A) Rs. 7,650, Rs. 5,610 (B) Rs. 5.610. Rs. 7.650

(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13,260 Fo &I 19 3K vam ¥ 39 yHR fawfem = f afe ta &1 11 %o @t @t vam # 15%0 |
39 YR ¥ fawsH & T iR wm # wew: e

(A) 7,650%F0, 5,610%Fe (B) 5,610 %o, 7,650 Fe

(C) 5.100%0, 8,160%0 (D) 8,160%c, 5,100%0 |

Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre

(C) All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.
e 8 A FH-W FYA S ¥ ?

) fodt fae &1 wftaeel 1 gfose fag = weam @

@) fweh fave o vid F qo el g1 W T T e o gfre fag o % Feen ¢
(€ faret fogw & = il & T ww fag W e €

(D) Tl e & yon #1 wiftrent, 39 o W @ gt & ud 39 wafgwifn F3 §

NIRRT [ PTO.
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104. Which of the following is not the condition of congruency of two triangles ?
(A)  The three sides of a triangle are equal to the three sides of the other triangle
respectively.
(B) Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.
(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.
(D) All the three angles of one triangle are equal to the three angles of other triangle.
= & | - FoA el #1 watmaea & fog g 7@ & 2
@A) T B F1 A et e gEt e it 0 qenedl % e g
®) qaﬁ'%aaﬁ‘?a’l eI T R W I, g e # A el w3 e F S
{0
© TF B & A Fo it o w9 e, g B ¥ @ W ol o a1 e F
aqE Bl
(D) U FasE F A o, g e F A F il F R 7o
105. If each angle of a quadrilateral is less than 180°, then it is called
(A) concave (B) convex
(C) parallelogram (D) trapezium.
forelt =y 1 e Fv AR 180° A FW A, A 36w F wed §
(A) HAg9dd (B) ER S|
(€) TR D) TS |
106. Alternate angles in the given figure, where two parallel lines are cut by a transversal,
are
12
3/ 4
5k
7 / 8
A (1,8)and (2,7) B (1,2)and (7, 8)
€ (2,6)and(1,5) D) (1,5)and (7, 3).

fad gu faa § 3 wwidt T@sd #1 wed & fds @ F 9y 99 g R F E

A
(€)

1/ 2
3/ a
B
7/8
(1,8) 7@ (2. 7) B (1,2)aw (7, 8)
(2,6) a4 (1,5) (D) (1,5)a@ (7, 3).




(4]

71 L-2

107. In the following figure, the value of angle o is ( here O is the centre of the circle )

(A)
(@)

D

[

o
600
A v B
60° B)  20°
30° (D)  40°.

fAgufmE i M T AR (T OFTFFRE )

A
(©)

D

A !‘0" / B
60° (B) 20°
30° (D) 40°,

108. Which of the following statements is Incorrect ?

A)

(B)

©)

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

A A A IR FY AT € ?

A

(B)
(©)
(D)

et g9 § wE fta g s W A T v 3§ S g oy & R o fag W
T T H F GO B 7

et gm0 A F= ¥ awer g W fom sfansd| 1 e aue g @
faret ga | uF Stan gry 9Rfu & oven- s faga W FAE T F s € €
ot g9 o F5 F UF Sa W e ™ A S F weigatad s o)

MR [ PTO.
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109.

110.

111.

7 [&]
Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

X K Y 7

U z
(A) 20 cm (B) 10 sq.cm
(€ 20V2cm (D) 20 sqg.cm.
AqFd XYZUS &1 UZ = 534t 991 XU = 4 9 &,
@ TR 9qYS KLZU 1 &3 §

X K Y A

U z
(A 209 B) 105 #H
© 2029 (D) 20@ &4 |
Hero's formula for the area of a triangle with sides of lengths a, b, cand s =-a-—t'-2b—-t§ '
is
(A) abe B Vs(s-a)ls-b)(s-c)
© VGE-a)(s-b)(s-c) (D) 5 xBase x Height.
mﬁwﬁmtmmmamﬁ,mm@t(qﬁs:%‘m)
(A) abc B) +Vs(s-a)(s-b)(s-c)
© VYG-al(s-b)(s-c) D) 5 x M x S |

A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

(A 12 cm ‘ (B) 16 cm

(C) 14 cm (D) 6 cm.

w fave o gumR =g 1 SR T fewa §EE € 1 afe B @1 e FEe: 26 99,
28 ¥ qu 30 Ft ¥ siv FURR TquS w1 MUK 28 ¥ Al qo0 &, @ WARR GgS F SR
&It

(A 1299 B 168H

© 14%H (D) 6@ |

(LT



[a]

112.

113.

114.

115.

116.

73 L-2
In general a book is a solid figure, known as
(A)  parallelogram (B) cube
(C) rectangle (D)  cuboid.
HYRvaar U faara u 3 arfa # fowe AW
(A)  FERR =g (B) w7
(C) &HFa (D) =919 |
Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?
A 9 (B) 18
c 27 (D) 30.

U9 U 39 O 941 OTedl @ faget o on 15 9t g | 39 faw 58 o e g fRe e
THSI HI SEvIFAT B 2

@w 9 (B) 18

c 27 (D)  30.

The volume and curved surface area of a right circular cylinder are
(A) 2nrh, nr?h B) nwr?h, 2nrh

(C) % nr2h, 2nrh (D) nwr2h, nrh

U GHEHING FHF FoH H AFAA T T TS F AAEd €

(A) 2nrh, nar?h B) nr2h, 2nrh

(© Lmr2h, 2rrh D) nr2h, nrh.

3
The value of n is given as follows :
3-14159265358979323846264307
The most and the least frequently occurring digits after the decimal point are

respectively

w 3,7 B 7,3
) 3,0 (D) 4, 1.
n & o A fem gan #

3-14159265358979323846264307
TN F 9 FEE e SR gad HY 91 A 9 H{F FmE: €
w 3,7 (B) 70
) 38,0 D) 4, 1.
The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called
(A) Histogram (B) Frequency polygon
(C) Bar graph (D)  None of these.
AFS i T@Efaa g et 6 it 9 fafy fowd oiw 39 sl g wafvfa fd o &
o smuR X-31% &1, o 3R sTeR dier F & a9 < Sl F s A S T W s
&, FEern §
(&)  smEatas ( fewom ) (B) EHERE FEY
(C) w9 uR (D) & & =g T |

(L [ PT.O.
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117. The values of marks I\H\I and ‘/H/I are

(A) 5,5 (B) 5, not defined
(C) not defined, 5 (D) 3,3

ft [N ™[] st

(A) 5.5 (B) 5, uftsfua =¥ #
() eRwifya, 5 (D) 3. 3.

118, If the data to be represented graphically on Y-axis are in lacs as 15, 2-1, 2.7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A) Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.
gf y-31e W Wwa ®9 @ weifa Rl 9 9t oS o H 1.5, 21, 2.7 9 3.3%, W@
T F1 Wefea w0 ¥ U ST WY ( het ) FHE W Em 2
(A) BOTIR Fo B) 30 TER T (C) 40TER To (D) 6OFSR To |
119. In the given circular graph, the decreasing order of the expenditure incurred on
various heads is

Food

Clothes - 70° \

Savings

Education

House Rent
(A) Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.
for g faa # fafbm wai W fran oI aren =7, el A A @

(A fozn, 5=@, F92, vHA w0, @ (B) @, " faa, w92, ag9q, faan
[ @, A fEran, faen, w92, F=9q (D) w&ME fFu, @, foen, w98, a=4 |

(UL
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120. The lengths of 35 leaves of a plant are measured correct to one millimetre, and the

121.

122.

123.

obtained data is represented in the following table :

Length ( in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
(A) 153 mm long (B) 145 mm long
(C) 149 mm long (D) none of these.
foreht didt =t 35 ufedl i e F stiws & fadt o vt w9 8 frog wfoon 9 €

wrvarg ( fft & ) ufval st g

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 1
T q% FE 9 ¢ o stfuaniva: ofvwal €
@ 153 Tt it (B) 145 Tt st
€ 149 fasft et (D) T A= T
In a typical plant cell the position of nucleus is
(A) Central (B) Peripheral
(C) Basal (D) anywhere.
T Wl IRy HifvE # e o feufa @ R
@A) FEE (B) ufta
€ FudE (D) e o |
Which of the following cell organelles is known as powerhouse of the cell ?
(A)  Nucleus (B) Nucleolus
(C) Golgi body (D)  Mitochondria.
e ¥ QA frm =ifesm &1 S 1 wfeye e s € 2
A (B) =z
(€ Tifesi ®=E (D) wrErEifgar |
The longest stage of mitosis is
(A)  Prophase (B) Metaphase
(C) Anaphase (D)  Telophase.
Tt favrer o gad ot v ¥
(A ArES (B) HerH
© TR (D) FerEs |

NIy

[ P.T.O.
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124.

125.

126.

127,

128.

129.

76
Viral disease is
(A)  Polio (B)  Plague
(C) Cholera (D)  Typhoid.
A Wt I &
(&)  diferE B) wm
(C) e (D) TEA®EE |
Which of the following deficiencies in food causes night-blindness disease ?
(A) Protein (B) Fats
(C) Vitamin A (D)  Vitamin C.
WA e A & frast st A it Imdan & 2
TN i B T
) faafmm A o) faerfi= C.
The system affected by AIDS disease is
(A)  Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
Tgd dEr ¥ wwifaa @ aren 7 §
(A) 9T T (B) va&A oA
€ F=a i o (D) wfmen &= |
“To every action there is always an opposite and equal reaction.”
The statement is known as
(A) Newton's first law (B) Newton's second law
(C) Newton's third law (D) none of these.
‘e T % wea fauda wd s s wfafma e ® 1" 3 FuE ) owed €
&) g2A w1 wem fEw B) =geA w fgda fram
(© A T g Fam (D) 9 |+ T
The rate of doing work is known as
(A) Force (B) Motion
(C) Power (D)  Energy.
F HE H R FwA€! ¢
@a =4 (B) T
(© s (D) Fet |
Which method of heat transmission does not require any medium ?
(A) Radiation (B) Convection
(C) Conduction (D)  Diffusion.
Fu Ho 1 FA-wt fafy § wnam F smavawa 7w g ¥ 2
(A) fafET (B) Haed
(C) =meH (D) fawRw |



[a] 77 L-2

130. With the increase of pressure, the boiling point of water

(A)  increases (B) decreases

(C)  remains unchanged (D)  none of these.

T g & WY 9 w1 @Y

() Tg@ @ B) wwE

(€ sfEfia wa § (D) T A+ T |
131. Property of sublimation is found in

(A)  sodium chloride (B) calcium chloride

(C) ammonium chloride (D)  magnesium chloride.

I T O 9IE A Y

() wifean RmEe | B Ffeww wines §

() e semges o (D)  #iiforam Feirge #
132. Heat required to increase 1° Celsius temperature of one kilogram water is

(A) 1 calorie (B) 10 calorie

(C) 100 calorie (D) 1000 calorie.

T e w1 uw fet dfeaaw w9 wen & fod sravas e At €

(&) 1%FaRt B) 10 Fard

(C) 100 Far (D) 1000 Fart |
133. Image formed by a convex spherical lens is

(A) imaginary and erect (B) real and erect

(C) imaginary and inverted (D) real and inverted.

T I et g9 8§ whafara o &

(A)  In9rE e i (B) arsifasw wd Hiw

(C) vt T 3w (D) Srafa® & I |
134. For an incident ray of light, if mirror is rotated by an angle 8, then reflected ray will

rotate by an angle

A) 6 (B) 20

(C) 90° (D) 0°

T afid e fwor & ferg, afz gdn 1 o w1 @y e we @ waEfda e = gae @
g

[PV B) 26
(C) 90° (D) 0-.
135. A patient of hypermetropia is given spectacles of
(A)  lens of zero capacity (B) compound lens
(C) convex lens (D)  concave lens.
e 4 ¥ wiw # Svn fe
(A) I gHa = A B fafgaa =
(C) I o F (D)  3=ad T & |

LT | PT.O.
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136. Frequency of ultrasound is

(A) <20 Hz (B) > 20 Hz and < 20,000 Hz
(C) <20 Hz and > 20,000 Hz (D) > 20,000 Hz.
CITHISUE @i gha et &
(A) <20Hz (B) > 20 Hz 991 < 20,000 Hz
(C) <20 Hzd9 > 20,000 Hz (D) > 20,000 Hz.
137. Pitch of sound depends on
(A)  frequency (B) wavelength
(C) velocity (D)  intensity.
w7 F1 e A Fwa
@A sl w (B) TORH W
C 3™ (D) diE@ T
138. The number of magnetic lines of force passing through a given area is known as
(A)  Magnetic induction (B) Magnetic intensity
(C) Magnetic flux (D) Magnetic moment.
fed T3 &3 | ToRA el TEEE a9 s # gen wEend £
(A) =& W B) A e
) F==E T (D) =g Iy |
139. A bulb ( 100 W, 200 V) is connected to a voltage of 160 V. The power dissipation is
A 64W (B) 100 W
) 32w (D) 160 W.
W FEE (100 W, 200 V) &1 TF 160 V dicedl F |9 g1 71 & | 9 grE g
A 64 W (B) 100 W
© 32w (D) 160 W.
140. One kilowatt-hour is unit of
(A) energy (B) power
(C) electric charge (D)  electric current.
o T faus oEE § 2
NI B) s =
(C) Fega &Y (D) Hem um @ |
141. If E ; be the peak e.m.f. of alternating current, then root mean square e.m.f. will be
W +E, B) EN2
© E;/2 (D) E,/N2.
A yeamadt ur & e fae ao @0 E 7, @ v e e fHo Jo qo g
@ E, B) E N2
© E,/2 D E,/N2.
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146.
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Detergent is a complex salt of
(A)  Sodium (B) Calcium
(C) Carbon (D) Magnesium.
TSt Sifed @@ &
(a) wifsam =@ B) Hfewaw =
(C) rEA = (D)  HriferEw & |
Device used to send text and pictures is
(A) teleprinter (B) telex
() fax (D) none of these.
7 w@ aE # 99 ¥ fau fEm I @ svEm e € 2
(&) T B) o
© % (D) T { FE A
Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D) Oxygen + Acetylene.
waai %1 afegn ¥ fau frer 4 4 fof i & fagm @ v fen s & 2
(A) HATFdSH + TEEEA (B) ATFEIoH + HTeA SEAFEES
(© sAtedom + fads (D)  ieadsA + wfafee |
Symbol of Tungsten element is
@ w B T
(C) Te (D) Tm.
A T I Hehalel §
w w B T
(C) Te (D) Tm.
The gas responsible for global warming is
(A H, B) CO,
(C) NO, (D) SO,.
forea o F fog fomter i @
(A H, (B) CO,
(© NO, (D) SO,

The atomic number of a nucleus is equal to

(A) number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons

(D) number of neutrons.

IR | PT.O.
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148.

149.
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M =1 YA FHIF TR G &
(A) T w g - 2w g
B) =R F dem + W F g
(C) Wi =t Hem
(D) =gEl =t den |
If acid burn occurs in the laboratory then wash with plenty of water and before

putting vaseline which of the following first-aids should be performed ?
(A}  Wash with sodium bicarbonate solution and again with water

(B) Wash with 1% acetic acid or lemon juice

(C) Clean with silver nitrate

(D)  Put simple salt.

wErTITen ¥ s | e W sty wrdt @ 99 =il 9w dues e @ g Prefafes § @ SR
wafis STER T =ifgw ?

(A wifggw aEFEEe Hd | T E S
(B) 1% UHifesk st a1 i F W o

(€) oo Eee | W% FEI

(D) HIMRY THE T |

A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

(A)  Aquarium B) Museum

(C) Terrarium (D) Forest.

¢ T Bl 91 I 8 — e, g, FYU e 396 WIE F STER T 9 ¥, 38 wEa €
A)  TE-SrEe (B) HuEEE

© &fEw D) & |

Which of the following statements is not correct ?

(A)  Aims are directives in the educational programmes

(B) Aims could not be achieved only by school programmes
(C) Objectives can achieve by school programmes

(D) Aims and objectives are same.

fredAsH-m sy aet =i & 2

() e Frdwn d 3tvg fewn Fdvm = %7 #a €
(B) e faemerdl FrE®y 50 339y Wa g # Hehd
(©) W= 3Eyy faumed wRiws g0 wra 6y 1 gad §
(D) IXYF A W TG T9E €

LT
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SECTION - IV (b) / @US - IV (b)

SOCIAL STUDIES / QHIfaa 1eqaq

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W aES d T 609 T 1 T anafddl 3 g fara &1 v e & 9 woft v won s #

91.

92.

93.

The main characteristic of the Indian society is

(A)  unity in diversity (B)
(C) self-sufficiency (D)
I AT # yE fadean #

W IEwd H T (B)
C) wEEa=EA (D)
Urbanization is the result of

(A)  educational development

(B) rural development

illiteracy

regionalism,

Ffeen
et |

(C)  migration of population from villages to cities

(D)  agricultural development.

TR wftomry #

(A Haw fawm o= (B)
(€) I | TR F AN TS GG F (D)

Regionalism is the main cause of

(A} poverty (B)
(C)  unemployment (D)
HAArEE §&1 FRO ¥

Ay TRE F (B)
© S0 (D)

o fasrg 1
Ffu fawm #1 |

social tensions

globalisation.

HiaE TE &1
FedtHTor &1 |

[ P.T.O.
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95.

96.

97.

98.

82 E

Apart from subject contents, a social study teacher should have knowledge of

(A)  objectives of teaching (B) methods of teaching
(C) techniques of teaching (D)  all of these.

o 797 & s &t fTvg-ag & WY-919 99 €1 Tfe

@) fom F s = B) fagw f&fuEi

(©) Fozor qw® w1 D) FHIE

Which is not a cause of poverty in India ?

(A)  Unemployment (B) Rapid growth of population
(C) Education (D) Large size of family.
9d # et & fa SF-m wRw T ¥ 2

@ A B) e wEE e

) fasn (D) 9%d 9fEr |

Which Harappan building was considered unique in its built in the world by Sir John
Marshall ?

(A) The Great Bath (B) Granary

(C) Assembly Hall (D) Fort Palace.

e TTwEEE TG H W W Aie 3 fava & smya et w2
(A)  FEq FATR (B) IETR

(€ | vEd (D) T wES |

“In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(A) A. L. Basham (B) V. A. Smith

(C) Max Miller (D) Jawaharlal Nehru.
‘yra F wEhar F sriwar o shwa ¥ wEar ¥ 1 9w A femwr € 2

(A) Uo Uo HIIH I (B) o o oy =

(C) e qEr # (D) ETETER ATE F |
From which Indus site the evidence of ‘Fire pit' is found ?

(A) Harappa (B) Mohenjodaro

(C) Lothal (D)  Kalibanga.

= ¥ A e 9 wa Q' ofF o' & oy faa € 2

A EEH (B) THEASIES!

() aE (D) wHretEm |
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99. What is the main source of information about Indo-Greek rulers ?

(A) Travellers’ account (B) Coins
(C) Buddhist literature (D)  Jain literature.
fe=-gmt sl & AR ¥ e w1 Te Wi w2 d 2
@A TR = g B fa=r
€ @z ufeE D) ¥ wifew |
100. Geeta is
(A) Veda (B) Independent Epic
(C) a part of Ramayana (D)  a part of Mahabharata.
Tiar &
@) = B) TETA TEHA
(C) THAEY & TF 9rT (D) HEHRA &1 T&F YFT |
101. The famous trade centre of Far West during the Gupta period was
(A} Vidisa (B) Purushpur
(C) Ahichhatra (D) Paithan.
T e A gt 9w § wfeg e &= o
(a) fafem B TR
© == D) e
102. The National emblem of India has been taken from
(A)  the pillar of Sanchi (B) the pillar of Sarnath
(C)  the pillar of Allahabad (D)  the pillar of Lumbini.
YRa &1 WY fag faa ™ &
(A) wEwEY R (B) TAY &Y A
(C) ToRER W A (D) ftart T/

103. ‘People did not lock their houses,’
About which ruler has Fa-hien written this ?

(A) Ramgupta (B] Chandraguptal
(C) Chandragupta Vikramaditya (D) Samudragupta.
‘o e d e w9

e[ | fre wes & 9 F o § 2

A T (B} ==TH I

(C) w=1w fawmfes (D) 9YAE |

(L [ PT.O.
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104.

105.

106.

107.

108.

109.

84 [Aa]

The famous temples of Mahabalipuram were built during the reign of

(A) Pallavas (B) Cholas

(C) Chalukyas (D) Kakatiyas.
TR & Yo wiet fofg mes & wee & aria a9 ?

(A) Y (B =@

(C =g (D) &g |

For the first time, in which period of Indlan History was the registration of birth and
death of people introduced ?

(A)  The Age of Mahajanapadas (B)  The Gupta period
(C) The Kushan period (D)  The Mauryan period.
YT 3faere H weedt aw @nil & 51 ud geg %1 deigE R e o fem 2
(A  WEEHUR FT B) 7§ &

© T FH (D) 9 F@

The tomb of Sheikh Salim Chisti is located at

(A)  Agra (B)  Delhi

(C) Fatehpur Sikri (D) Ajmer.

Y@ weim favdt w1 qhaw wel foga € 2

@A HWH B) feehtd

(€) TR W H D) R |

The author of ‘Nuh-i-Sipthar’ is

(A)  Amir Khusrau (B) Malik Mohd. Jaisee
(C) Dara Shikoh (D)  Shetkh Nizamuddin Auliya.
‘¢ fafre’ & woen §

() e e (B) wfew drewR s
(©) 3 feere (D) Y@ FremgEs sitferr |
The chlef centre of Chisti School in South India was

(A) Gulbarga (B) Golkonda

(C) Bijapur (D) Bidar.

sfegelt v H favdt faafed =1 wqa &= @

() e (B) TiergUel

(C) ST D) e |

The place where Saint Dadu died is

(A) Sambhar (B) Amber

(C) Narayana (D)  Pushkar.

T T} %1 g e e wogd ?

A =W B) =T

(C) =g (D) Y& |

TR
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Where Saint Jambhoji was born ?
(A) Pipasar (B) Gagron
(C) Jaitaran (D) Nagaur.
T SIS T S HE g o ?
() R B) TRH
(© SR (D) AR |
The meaning of the word ‘Dastak’ is
{A) Slavery (B) Factory
(C) Port (D)  Duty-free trade.
‘T v A € 2
(&) e |
(€ ==y (D) YT qE AN |
Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
() Maharana Pratap (B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
sl & fadtene W A ( 1567-68 ) % THG AE! F UKE HA A 7
(A) HERM WA (B) weron 359
€) AT« (D) wewon HT fHqe |

Which of the following Mughal emperor's reign was known as the golden period of
Hindt literature ?

(A)  Aurangzeb (B) Akbar

(C) Jahangir (D)  Shah Jahan.
oG e ARG F FT H e e H w0 77 HE A
@) SE (B) FHFEL

(€ e (D)  wTEwEl |
The French traveller who visited India for six times was

(A) Menucci (B) Bernier
(C) Thavenot (D) Tavernier.
FH-Q wEE A 3 9T AR WK H A A 2

& wE ® =R

© F&E (D) ZEdEE |
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115. How many ranks of Mansabdars have been mentioned by Abul Fazl in his

Ain-e-Akbart ?
A 22 (B) 33
€ 44 (D) 66.
HEA-T-Fa  Irae o 3 FAFaER] F fFa Al = seera a2
A 22 (B) 33
C) 44 (D) 66.
116. Who was the leader of First War of Independence ( 1857 ) at Kanpur ?
(A) Tantya Tope (B) Laxmi Bai
(C) Nana Sahib (D) Kunwar Singh.
WRA % WYH Eaedl 90T (1857 ) FHER ¥ Aga e fwa @ ?
() e &Y B) @S
(C) A \IEE D) F= fEE
117. Who is the author of ‘Majha Pravas' written during 1857 ?
(A) Vishnubhatt Godse (B)  Sitaram Pandey
(C) Narget (D) Mangal Pandey.
1857 % ¥RM fofEa g ' vare' & s €
@) fasprg el B) HARM yvdg
© TR (D) e WO |
118. Who has given the title of 'Rani’ to Gindalau, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi
(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
T A wfgen firgeg 1 T F Iy e < oot 2
(@) EEg TR B)  mETew T
(C) TEETEnd TEw (D) [N I% T4 |
119. In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B) Marathi
(C) Gujarati (D) English.
HereR! Tt A g senEen fHw v # feet ?
w fed B) WE
(© T (D)  sUsh

120. In which year did British Parllament pass a law through which has taken overall the
rights from East India Company ?

(A) 1858 (B) 1859

(C) 1860 (D) 1861.

fafey Hge A frg a8 #r7 9 =1 §2 few oot & | stfvsr o fad 2
(A) 1858 B) 1859 ’
(C) 1860 (D) 1861.

TR TERRI W
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121. The Constitution of India was adopted on

(A)  15th August, 1947 (B) 26th January, 1950
(C) 26th January, 1949 (D)  26th July, 1950.
vt dfaum @r) e T

(A) 15 3T, 1947 F1 (B) 26 ¥Hadl, 1950 &l
©) 26 FFad, 1949 F) (D) 2658, 1950 |

122. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

A 10 (B) 12
€ 15 (D) 11.
9t wfaum vm-4, ag=de 51-v & amftal & fFad qm wiss afvlg & 2
A 10 (B) 12
(C) 15 (D) 11.
123. When was the first meeting of Constituent Assembly held ?
{A)  15th August, 1947 (B) 26th November, 1949
(C) 9th December, 1946 (D) 26th January, 1930.
wfaym Fmf T %t weelt do% Fa amifm F o 2
(A 15 3T, 1947 (B) 26 =, 1949
() 9fewwy, 1946 (D) 26 v&Ed, 1930.

124. In the Constitution of India the number of Fundamental rights after 44th Amendment
Is

@ 6 ® 7
© 8 (D) 5.
Yy wfaum ¥ 44 3 d9A & Tvar g9 Sfueil @t e €
A 6 (B) 7
© 8 D) 5.

125. Which is not a characteristic of the Constitution of India ?
(A) Democratic system
(B) Fundamental rights and duties
(C) Employment guarantee to every citizen
(D) Independent judiciary.
yHta wfaum # -6 g T2 & 2
(A) yeaIEE TEha
(B) Y& IfusR vd FdA
(C) v A H1 IS H G
(D) A rEvifaE |

NN RARR D [ PT.O.
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126. The number of Lok Sabha members elected from Rajasthan is

A 21 (B) 26
© 30 (D) 25.
TS | A % o Fraffaa geai =t den @

@ 21 (B) 26
© 30 (D) 25.

127. The President of India is elected by
(A] the people of India

(Bl elected members of both the houses of Parliament and State Legislative
Assemblies

(C) the Prime Minister and Council of Ministers

(D) all the Chief Ministers.

9RA 1 Ugafa I S &

(A) YRE F T g

(B) HHE & Tl WEAl ud Uvg faurmw ¥ fraitaa o= g
(C) wurHHH! ud wfyafeg & geei g

(D) T9& gEHEEAAl g |
128. Who is the Supreme Commander-in-Chief of India ?
{A]  The Chief of Army Staff (B)  The Chief Justice
(C) The President (D) The Prime Minister.
YA %1 Far= Jwfa $H & 2
A TIE Ty (B) H&A =g
() Tgufa (D) W |
129. The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
(C) the Prime Minister (D)  the President and Prime Minister,
VIR H Wall= A % e A # i e d
@ 3v-Tgdfa B) ugyfa
(© wyrwEH (D) TpYfd wd guEHE |

130. Who is the Speaker of Rajya Sabha ?
{A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister
(D)  The person elected by the members of Rajya Sabha.
TvEE H Yl F4 g 2
(A) Iu-TEufa (B) faue =1 Fan
© &R (D) A & Tewl gw faifaa =afe |

AT
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The largest continent of the world is
(A}  Africa (B)  North America
(C) Asia (D)  Antarctica.
Yt #1 §aQ 981 wep §
(A) TR (B) 3T amAf
(C) ufE (D)  wuErEfeE |
‘U’ shaped valley is formed by
(A) rivers (B)  glaciers
(C) winds (D)  underground water.
‘U @R ardt fafda ot @
() AfEE g B fewrst g
(C) w=sH g D)  vfama 5t g |
In which rocks are layers formed ?
{A)  Igneous (B) Metamorphic
(C) Sedimentary (D)  All of these.
ot o= =gHi A adt € 2
A g B) w9
(C) EEE (D) 8 a®d
The lowest layer of atmosphere is
(A) Stratosphere (B] Troposphere
[C] Ozonosphere (D)  lonosphere.
FGHVEH FI gad et wa @
(A) WHAIHUES (B)  &yHvEH
€ SEETvEE (D) sTEmUEd |
The sea having maximum salinity in the world is
(A) Red Sea (B]  Arablan Sea
(C] Dead Sea (D) Baltic Sea.
fava § waifus w@vman aen g #
(A) o 9FR (B) HEF €I
(C) ¥a € (D) wifees |FR |
Which region of India is associated with ancient Gondwana landmass ?
(A) Himalaya (B) Ganga Basin
(C) Thar Desert (D)  Deccan Plateau,.
YIRA 1 HH-F W WHH Trearn Y-4m 4 gEfd €7
(@) fearem (B) M & A
(€) ¥R HEedd (D) =f&or &1 =R |

IR IREHI [ PT.O.



L-2 90
137. In which type of forest is Sundari tree found ?

(A) Tidal forest (B) Temperate forest
(C) Desert forest (D) Mediterranean forest.
gt g fFe ywR & o § v S ¥ ?
(&) e ®) i
(C) wWEEyet o (D) YHEErRE 59 |
138. The cause of winter rainfall in Northern India is
(A) South Western Monsoon (B) Western Cyclonic disturbances
(C) Cold wave (D)  all of these.
It wRa § Yaewreia 6 & FRe #
@A) afEi gfred g B) ufredl awamg faely
(€ ¥ = (D) FEATH |
139. Sindri is famous for the production of
(A)  Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
fo= ferae e & fog wfag @ 2
@ - B i T
(C) TEMEfE E® (D) e |
140. On which river is Bhakra-Nangal Project located ?
(A) Satluj B) Ganga
(C) Ravi (D) Vyas.
wrEel-ArTe arErer faw 76w fead # 2
(A wFe B) W
© e (D) =M |

141. The main soyabean producing districts of Rajasthan are

(A) Ganganagar — Hanumangarh (B)
(C) Bundi — Tonk (D)
o § | & g IEeE e ¥

A TR —EEATe (B)
© 4 —2F (D)

AR

Kota — Baran

Jaipur — Dausa.

Hrel — A/l
Saqt — 24
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In which district of Rajasthan is Tungsten produced ?
(A) Bhilwara (B)  Udaipur
(C) Nagaur (D) Jaipur.
TR FFT R A ITET R TEA T R 7
(A)  wieETS B) IR
() AR (D) &Y |
Rainwater harvesting is beneficial for
(A) trrigation
(B) agriculture

(C)  production of hydroelectricity

(D) improvement of underground water level.

T4 e HUEO TEEE §

() f=rd & fa B FuF

(© v faga I F fag (D) YfETa v ' g & fa )
In Rajasthan, cities located on National Highway No. 15 are

(A) Bikaner — Nagaur — Jodhpur — Pali

(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer - Udaipur — Dungarpur

(D) Jaipur — Tonk — Bundi — Kota.

T # et Temei- 16 W fem R E

(A) AR — A — S — e

(B) TR — SR — A — W

€ AR — FIR— IFR — FTRH

(D) AR — AF— q& — HA |

The second highest peak of Aravall is

(A) Jarga B) Ser

(C) Taragarh (D)  Achalgarh.
FEe 1 e Swaaw e ®

(A) s B) W

(C) e (D) =ETE |

MWW
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INSTRUCTI {
{ Read carefully and complyeus mﬁt QI T )
IMPORTANT / W&arquf

1. In Sectien Il (Lan I} a candidate has to attempt the questions of the language which the candidate has selected as
Langu 1 in the Online Appbqatgn Form.
wwg 1 (v 1) zgwtm ¥ we afrard & frw w9 st A a1 % w9 A e SR | e b

2. In Section IIl [Language 1) a candidate has to attempt the cﬁ.nestions of the language which the candidate has selected as

Language I] in &I Application F The Language IT will be different from l.
4 m:ﬁ%&ﬂﬁm{%mmmﬁammmwu:%%Wntwiﬁ#:SGmdhmhm:muaﬁu:\fha
. C ate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
Mqﬁﬁaﬂaﬂﬁim%ih&ﬂwmwm AR W W8
4, The candidate has to answer of that subject in Section {IVa) Mathematics and Science or (IVD) Social Studies as sclected by the
candidate in the Online Application Form.
If a candidate answers questions of the )maguge or subject other than selected in the Online Application Form, the

idate shall be nall ible for it and i be ed :
%el;t;nw “gvsé{v:‘%m@f:;l;:lnm};rm %fﬂ%nﬁwtwﬁmmk.mmwmm
%mam&%ﬁ:ﬁ:’a : A Fgfa fawg & gvA Wt EZe0 fowg & vt # ¥ M anad
o7 e @ A Fg W @ Y T g
=t wd w Pl @it o e W ST
I Read complete instructions carefully and fill the details from S1. No. 1 to 6 in the OMR Answer Sheet and Si. No. | to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the

consequen: ing duri ing of Answer Sheet.
ﬁhﬁwm;:rv‘; n&%:ﬁnﬁémm ¥?’sww;n;§z ol 1 R 4 7 W g (FEEe) W wt aft S e 3l @
fyarror sA W TS A & At OMR Y2 #1 WEFT & Feraey B A GO & Wit A9 T g g
2. OMR Shect No. should be written in the space provided in the Question Booklet.
OMR ¥z ¥ e gt d 6wt fwifa A W el AT e |
- &?Q‘muo:xaooueﬁ:? Reeek whe't B Baolact contain 150 pomsicinas g b g e
n 8. r t con! questions & rom 0. i
m%ﬂ%%@nwmtnmm#mtm wed qfeere W |m§%vﬁﬁsmqﬁﬁwﬁ
150 W & ot fof g2 dwar 3 R e gt 92 v &)
4. Al &u#n ':nubol MCQ (Multiple cme‘: Questions) type. There is only one corrcct answer to each question carrying one
; © 0o ne T
v mthﬂ mmm*mﬁdﬁaﬁmwhmmiﬁﬁmn#ﬁmﬁn
5. Al ons other than language Mmdmwnmmmwm
W X % T4 WG WS [0 m % WY & A e ad wvat & v i ‘ '
6. In u& :7:1;\1(“0! an&emjstalp: in :ny question/s, candidates will not be penalized. Howcver no corrections will be made in
ucs .
%mihﬁnﬁztmdmmw?ﬂﬁmmﬁmﬁwiuﬁﬁhﬂmmmaﬂmml
7. ;Zoug}:h w(gg, ifu‘ any, may be Ndox;;di?mt)hil Qucstio:h < bl;lc;rg:’ﬂz ei:thespace provided at the end of the Booklet. Do not tear it off
rom the Question Bookleg, No n r sha i
fw’tmtmtﬁhm#&utmim%%p:nn\wdhwmﬁmﬁaﬁwﬁmﬂmnaﬁﬁmmmﬁmnh\
8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc, is not

a d. ir will rpsult in disqualificatjon.
e
%w.wﬁmﬁm%%.Wmemmwmm/mmm (IR <cT

[l
9, OMR Answer Sheet will be provided along with Question Booklet separately.
OMR iz, W¥ & W™ A B A |

10, The Question Idet will be issued at 1:45 P.M. and the candidate must fill all entries in Question Booklet and OMR Answer
Sheet. The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that unyaﬁ:‘e/
question is not missing / not printed / wn;{ repeated. In case, find any defect anywhere in the Question Bookdet, immediately
il:’xfonn ltlh;i{‘nvxgﬂattog ggdpﬁt it replaced within 10 minutes g;'»um Invigilator, Warning Bell will ring at 3:25 P.M. and the last

ng ring at 3; M.
T G AN .45 T 3 iy snardl s w9 A e R AT Mg iz H i st W o o e 9 A
W Gie W §E 2:00 47 ¥ WE Y ged & T T T GArve % i ae e e g m‘q}znﬂ
a9 ¥/ vt ot & / mmﬁaﬂkmmﬁwﬁg-m ay b1 o oW SR W e g o wen & o e e @) e WA
10 firz % o dha | A W L nﬁﬁﬁms:zsmtﬁuaﬁwﬁ L6 3:30 T EA

11, Write yuurmh:m Ceng: nge.BRo }dNo.. OIl!I! Anua‘wer Sohc;tt '{io.. ngsuogn Booklet No., Name and put your Signature in the
space provided in ues ooklet as well as ¢ nswer ) )
m?ﬁmum%‘zw mwmiﬁﬂ%:.gam,on i, v e wei, T fad 3@ S s W

12 With each question you will find 4 possible answers marked by the letters A, B, C & D. Read cach question carefully and find
out which answer, according to J&u is correct. Indicate your answer by darkening the appropniate circle completely in the OMR
Answer Sheet corresponding to question. For marking answers use blue/black ballpoint pen only. Gel pens / penciis are not

lowed.

nésao W= % U AwfEgE 3 A, B, c @ p # 7@ ¥) gt % um u%aaggmmmmmmﬁmvhzim

%?wtmm'ﬂﬁﬁmﬂiﬁmﬂWﬁaﬂ:ﬁ#t = @ T 1 w7 B I w0 A 1 a e F5 IwEm
I

Correct method : | CORRECT / W8 | ono method : | WRONG / TEA WROKG / Tt | | WRONG / TTH@ WRONG / TTH

O OO @ | at. BOOO| |0€00| |0000| O8O0 e

13. OMR Answer Sheet is designed for corputer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account

shall %zd éf" candidate only, i

OMR W‘Imfn&‘«#f@tﬂmwhn&maﬂw vz 4 fedt m Bt = ueE e e, @ TR gn
e F3T & A | T R F et w A e ﬂmmmﬁ [

14. No candidate should leave the Examination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet

R SR R R SRR e e e
|

T




